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1,1,1 aangle bangle Polelevel
i 30.0 a20.0 247
1 a0.0 210.0 26
2 a5.0 450 336
3 a9.0 1352.0 282
1 a5.0 2250 a.01
ol 35.0 315.0 3.36
3 40.0 40.0 242
7 40.0 1352.0 a2.18
3 40.0 2260 3.12
4 40.0 220.0 2.48
10 450 a5.0 298
11 45.0 140.0 296
12 450 220.0 2.0
13 45.0 325.0 3.02
14 20.0 a0.0 276
15 20.0 145.0 2.91
16 a20.0 2150 2.92
17 20.0 230.0 297
18 250 1.0 298
19 250 160.0 2.07
20 250 205.0 a7
21 25.0 340.0 2.96
227 0.0 180.0 2.449
23 0.0 2a0.0 213
24 65.0 180.0 3.39
200 aangle bangle Polelevel
] g90.0 0.0 264
1 250 250 1.79
2 250 150.0 1.8
3 25.0 205.0 1.83
1 0.0 0.0 273
] 0.0 170.0 247
3 60.0 1952.0 2.87
¥ B5.0 0.0 2.33
3 E5.0 1752.0 2.38
220 aangle bangle Polelewvel
] 250 1852.0 2.02
1 25.0 200.0 1.96
2 a0.0 0.0 4.3
3 a0.0 1852.0 a3.38
ul 35.0 0.0 3.02
] a5.0 180.0 285
3 250 e5.0 2.9
¥ 0.0 S90.0 a3.01
3 E5.0 270.0 298
J 85.0 85.0 2.63
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111 aangle bangle Folelevel
i 300 50.0 247 [001}<100=(7.0) [013}<1002(3.2) [122}22-21=(7.0) [132)<6-43=(8 1)
1 300 3100 26 {001} 100=(7 07 [013}<1005(9 2) [122}<2-215(7.0) {132} <6-43=(8.0)
2 35.0 45.0 3.38 {001}100>(0.0) [122}€2-21>(0.0) [132}<6-43>(5.0) [213}e-1-42>(8.5)
3 350 1350 282 {001} 100=(0.0) [122}<2-215(0.0) {132} <6-43=(5 0) [213}4-1-42:(8.5)
4 35.0 2250 3.01 {001}100>(0.0) [122}€2-21>(0.0) [132}<6-43>(5.0) [213}-1-42>(8.5)
5 35.0 315.0 336 {001} 100=(0.0) [122}22-21=(0.0) {132} <6-43=(5.0) (213} 1-422(8.5)
g 400 400 342 [001}<100=(7 07 [013}<100=(10.6) 1122}<2-21=(7.0) 1132} <6-43=(9.2) (213} 1-422(3 8)
7 400 135.0 3.18 [001}<100=(5.0) [013}<100=(14.7) [122}22-212(8.0) [132)<6-43=(4 4) [213)4-1-422(8.2)
8 40.0 22510 312 {001}=100=(5.0) {013}<100=(14.7) {122}<2-21=(5.0) {132}<6-43=(4 4) {213}=-1-42=(8.2)
9 400 3200 348 [001}<100=(7.0) [013}<100=(10 6) [122}22-21=(7.0) [132)<6-432(3.2) [213)4-1-422(3 8)
10 450 350 298 [001}<100=(14.1) [013}<1005(3 6) {110} 1-12=(10 0) [122}<2-215(14.1) (213} 1-422(7 2
1" 45.0 140.0 2.98 [0013<100>(11.1) [013}£100(8.2) [110<1-125(11.1) (122}e2-21=(11.1) (132}<6-43=(11.4) [213}-1-42>(7 6)
12 450 220.0 30 [001}=100=(11.1) [013}<1002(8 2) [110}=1-122(11.1) [122}22-21=(11.1) (132} <6-43=(11 4) (213} 1-422(7 &)
13 45.0 325.0 3.02 [001}<100>(14.1) [013}<100(3.6) [110}<1-12=(10.0) (122}€2-21=(14.1) [213}e-1-42>(7.2)
14 50.0 30.0 276 [013}<1002(3 &) (110} 1-12=(7.0) (213} 1-422(13 )
15 500 1450 291 [013}<1002(4 2 1110}<1-12=(5 0) 1213} 2-1-422(12.1)
18 50.0 2150 292 [013}<1002(4 2 (110} 1-12=(5.0) [213}4-1-422(12.1)
17 s0.0 330.0 2497 [013}<1005(3 6) (110} 1-125(7.0) (213} 1-42:(13.8)
18 55.0 15.0 298 [132)<6-43=(13 9)
19 550 1600 307 [013}<100=(14.4)
20 55.0 205.0 3.17 [013}<100>(10.8) [110}<1-12=(10.0)
21 55.0 340.0 296 [013}<100=(14 4)
22 500 1800 348 1110}<001=(5 07 (112} 1-11=011.0) 1132} <6-43=(12 £) 1132} <6-43=(12 8) (213} 1-42=(8.0) {625)<1-51=(11.0)
23 #0.0 350.0 313 {132} <6-43=(8 0)
24 550 1800 338 {110}<001=(10.0 (112} 1-11=(6.0 1132} <6-43=(10 4) 1132} <6-43=(10.4) 21321422030 1525)<1-51=(f 0)
1,00 aangle hangle Palelevel
0 500 oo 264 {001} 100=(0.0) {0013 110-(0.0)
1 55.0 25.0 1.79 [101}<52-6=(13 1) [110<1-11=(14 1) [122}<2-21=(13.0) {132}<6-43>(6.3)
2 550 1500 1.6 {01151 1) [122}<2-215(13 B} {132} <6-432(2 2) (213} 1-422(13.1)
3 55.0 205.0 1.83 [101}<52-6=(13 1) [110<1-11=(14 1) [122}<2-21=(13.0) {(132}<6-43>(6.3)
4 #0.0 oo 273 (112} 1-11208.0)
5 0.0 1700 247 (11211150111
5} 60.0 195.0 2457
7 650 oo 233 1112} 1-11=(10.0)
8 B5.0 175.0 238 [11232-1-112{11.1)
1,10 aangle bangle Palelevel
D 25.0 186.0 2.02 [101}<52-6=(14 §) [110}<001>(11.1) [110}€1-11>(7.8) (12}e-1-11=(10.0) (132}<6-43=(13.3) [213}e-1-42=(10.7)
1 250 200.0 1.96 [110}<1-112(5.0) {112} 1 11=(13.6) [122}22-21=(13 4) {132} <6-43=(8 5) {132}<6 A3=(14.8) {213} 1-422(10.0)
2 30.0 0.0 4.3 {110}=1-12=(0.0) {112}e-1-11>{8.0) {132}<6-43=(14.4) {132}<6-43=(10.2) {213}e-1-42>(8.0)
3 30.0 185.0 338 [110}=1-11=¢14.0) {110} 1-122(5.0) (112 1-112(7.0) {132} <6-43=(10 6) {1532} <6-43=(14 &) {182} <6-43=(F 4)
4 350 oo 302 [001}<100=(10.0 1110}<1-12=(5 0) 1112} 1-11=(0.0) 1122}<2-21=(11.0) 1182} <6-43=(9.0) 1213} 2-1-422(13.0)
5 35.0 1800 288 {001}<100(10.0) (110} 1-12=(5.0) [112)2-1-11=(0.0) [122)22-21=(11.0) [132)<6-43=(3.0) [132)<6-43=(3.0)
6 550 B5.0 29 0013100201113 [013}<100=(10.2) [111}<01-15(5 03 (112 1-11(7.0) [122}22-21(10.2) {182} <6-43=(12.0)
7 800 500 3.01 [013}<100>(4 0) [111}<01-1=(5.0) [112}e-1-11>(0.0) [122)22-21>(14.0) [233}<01-1>(5.0)
] 550 270.0 298 [013}<100=(1.0) [1113<01-1=(10 0} (112} 1-11:(5.0) {132} <6-43=(14 8) {182} <6-43=(14 8) {233}<01-1=(0.0)
9 85.0 85.0 2.63
“Result™
[0011<100>  @013<110>  {013}<100>  {101}<52-8 {110}<001>  {110}<1-11= {1103<1-12= (1113011 {11211 (12222215 [132)<6-43 {213} 142> [233}<01-15 [525)<1-51=
.11 3.5 il 212 0.0 1.0 0.0 225 0.0 0.33 1.78 18 18 0.0 0.5
iR 1.0 o 0.0 0.5 0.0 0.75 0.0 0.0 0.66 0.25 0.25 0.08 0.0 0.0
1,10 0.75 il 0.37 0.1 0.2 042 0.57 0.5 1.12 0.62 0.87 042 0.5 0.2
{001} <100>cube
{112} <1—11>copper
{122} <2—21>
(132} <6—-43>S
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